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MEC-008 : ECONOMICS OF SOCIAL SECTOR 
AND ENVIRONMENT 

Time : 3 hours 	 Maximum Marks : 100 

SECTION - I 

Answer any two questions from this section in 
about 500 words each. 	 2x20=40 

1. Discuss the implications of 'functional distribution 
of income' on poverty. 

2. Do you think externalities and public goods are 
closely related ? Explain the difference between 
the two by means of an example. 

3. The difference in the treatment of "natural 
resources and other tangible assets provide 
misleading signals to policy planners". Explain 
with an example. 

4. What is Co ordination failure in common property 
resource management ? Explain with an example. 
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SECTION - II 
Answer any five questions from this section in 
about 250 words each. 	 5x12=60 

5. Outline the alternative methods for measuring the 
economic value of education. 

6. What are the factors which influence the supply 
of health care ? 

7. How does poverty affect the marginalised sections 
of society ? 

8. Illustrate some situations where government 
regulation is required. 

9. As per Douglas North, what are the crucial 
determinants of the efficiency of markets ? 

10. Distinguish between direct use value and indirect 
use value of environment with an example. 

11. State the limitations of growth-accounting/ 
residual analysis approach to education planning. 

12. Why does health insurance fail sometimes even 
in well established market economies ? 
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